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IRITIMAE N E & A%
(8%FiIAA) (10%F2 A )
NEAFEHNTAE EF 507H]| = 517H [ (Friir={M4& 470H)
28}tk 939 | = 957H [ (Fitr=/M4& 870H)
= | R 507H| = 517H | (Frik=1f4& 470M)
3E vk 1,4470]| = 1,474 [ (FrirZ={d& 1,340M)
_ SRtk 2311H| = 2,354 | (Fith ={fi+& 2,140M)
h=ZER/\GHRE |EFR 507H| = 517H | (iR =1f4& 470M)
28ty k 939 | = 957H [ (FitrZ={f4& 870M)
3E vk 1,4470]| = 1,474 [ (Frir={M& 1,340M)
ARk 1,879H]| = 1,914 | (Ftr={m4& 1,740M)
EEEAET AN 2HEYER 1,026 | = 1,045H [ (Fiith =1fi#& 950M)
FfE/ Ny (12[0]) 10,584H| = 10,780 | (Fitk =1fit& 9,800M)
X3 (11[A]) 9,612 = 9,790 | (Fatk =1fi+& 8,900M)
3y H/\ws . 2,808H| = 2,860 | (Fth ={fit& 2,600M)
27 B\ XH3-2H % 1,890 | = 1,925 | (FitkE{@itE 1,750M)
MAUPTYYk B 2,052 ]| = 2,090 [ (Fatk =1{f4& 1,900M)
FfE/ Ny (12[0]) 21,384H]| = 21,780 | (Fith=1f4& 19,800)
] 35 A\ Y 57241 | = 5,830 | (Fith=1{H+& 5,300M)
MBarL—=27 | RKT 820H| = 836 H] [ (Fatk={fi4& 760M)
14 'R 7 & B B EE A 518H| = 528 | (Fit = fi4& 480)




